94 18

( : : - 712100)
80 . , .
.0 .
, ( ) s ,
( ) s
L4, 140 167 . .
70
1 s 3 s
5° 25° s 500t/ km?2 R
3 : (A )
(B )3 (C ) 60min
(%) 3 ‘A Beos 008 0% < 28 < 80% ¢ Pes
20%
2 R s s ,
R
1071, 113
R= 0.012P 60 I P
R
0.95 ,0.72
R = 0.008P0. 776/ 0 1 @
R
1L.%2 0.954
R = 0.160P00nf ¥ 1%
R s R : R> 150
H R 100 150 : R< 100 , 3 R
3 13 101 448 s B
4 5
5 . Ps 8,P140,P60,P10 (<
Skm?2) :
. b1 2, 5, b
Sv=aP o P 6of 1o
Ps 8, Px, Puw, Peo (5 1000km?2)
b R o, b4
S2= aP oo Py PP 6o
6 1955- 1986

,1996. 343 :38. 00



